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Al A

T 20ah LB &
IR R
2 =2 2AA=MHIA 2=
S2HEFI MBI MS QM)
SA - ZE . BR(8) - HRAR - BES of v A 2
SAE M 85,692,560 68,276,471 17,416,089
= 242,328
[ 33,972,432
Il 10,521,406
< 40,956,3%
=2 BHASAHHIA 2= 10,181,792 6,420,977 3,760,815
s 6,980,952
= 3,200,840
SAHAAIAMEIA HS 10,171,792 6,420,977 3,750,815
= 6,980,952
== 3,190,840
SHEEHA S 0|8e= 7,746,250 4,285,352 3,460,898
= 6,197,000
< 1,549,250
403 AXIEHMSAH=01d 7,746,250 4,285,352 3,460,898
[ 6,197,000
= 1,549,250
01 AXISHHA=2 2 7,746,250 4,285,352 3,460,898
Os0HEAZAMYIAINE XIS 7,746,250
[ 6,197,000
= 1,549,250
sHEEHA S Jls 22 20,000 20,000
403 X SHHMSAH=01H 20,000 20,000
01 AXISHHA =2 £ 20,000 20,000
OB JIs 24 20,000
SHEEHA S 0|FAF(HAM ==2l) 60,000 0 60,000
[ 40,000
= 20,000
401 AlZHIZ SO 60,000 0 60,000
[ 40,000
= 20,000
01 Al&HI 60,000 0 60,000
Ogad el 60,000
= 40,000
=S 20,000
SIS F X =X 512,560 545,246 A32,686
= 3%4,276
< 118,284
308 AXIHSO0IA 512,560 545,246 N32,686
[ 394,276
= 118,284
01 X SHHBAEXS 512,560 545,246 A32,686
Ol F X AN ALY 512,560




od
i’
oF
uJ

=
=

B AEIA 2

dHIA X

n
g2
A

L X L S8 el e Q14189 B BB 8188 il e 8
e0) [ee] e0) N~~~ [ap N las N Nep) [©)1N eI Ne)) OO |O (@)
- w W m NEE By [ [ s|sls g~ g
Klo
E
F=)
3 P 3 2188 $(8|8 SAE R QRN 2818 218 S S
0 0 0 QoS wlS S O | & S|G9S o0 [0 SlS|(e S|S S S
— — — wlw|lw 0| ©|w© < | << < | S| o To) N~
e g g g A A & il el R - -] L= S
LiEd
RIS
c3lgeelyegly g eglsglels glglsls glely ¢lsisls gl8|s|s 8|s|gs|s g|g|s 8 8 8 88
N A6 6 G0 § Gln @ ¢ G|IS|SS SIn|S|S O|u|n vISIole S|F|F|Y S(S|SS Sfg|e & & 5 9|5
e0) D A (e)) QD[O]|O|O0 O[OV ]|O|WO© © OO | O|WV|Iwvlwvy wWvu|lw o O W [Tol eV
325938328 83¢g/====| NS o SR E ERE ] SRR
al -
<
=3
W m W W
y
i rt o
(21 N W 0
’ — o ! _ o
L R d D _ <+
= 3 = T 31 D H
< 2 ol o OF =
=z @m.m ~ 1[3] @m = <+ 3 ok
: - T = o of & o A | o M| al g
. 3 R Bl E K 0 ol el R
= 0 0 = 0 — 0 oH = Al
= U <) P &l 0t 2@ O 1 < P o |5 mn = w 3
ol N 0 N d ol H
oy - A - RO | oir R & |5 O Rio |
F x = S 2 ool S22 olm|o|o Bl@(e]|2 [=] IR |- 5 - &
wy| o uo s = = |WIR R | BE GWE gy DD |0 (WR U (M m DD A 2ok o
. = up S = |= U Ol T = N B0 |m DF | |= W n _|3ofm ~ 8 -
= o Ul ST RI(O){O) @ =g Mo w0 Him|od ® S| Ymim Mo W odis
0 = R N o |r #lar |0 x| B0 Wioix|g &g | |& Pl ® o ® Y
K or = Mo o FIRIR od|m|on|= A=A HAlmfat|< |y |R|Rk Hlm|el|~ Blau|< B0 o ¥ 8|z
. RF © o O Wle|l= Olf|=|= Olg|e OlH|=|= Olgl|le|= Olx|= Ol=|l= O o OO
% i l<p} %.__3 _A._SZ <} m__o?_ .}...__3 ou | — « eV
o i B0 £ i 0




SN EATBY
M A =2 BABMHIA IAF
el EAEIMBIA WS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 242,000 207,000 35,000
Ogad dzAE S 242,000
405 KHaHF S| 50,000 50,000
01 ML ESFSHI 50,000 50,000
OgAH AR ATE0 2 50,000
A Hesy 30,600 29,390 1,210
201 et 3| 23,000 23,000 0
01 AtR2te|Hl 23,000 23,000 0
OEAEM20r 2eret B2 =8 23,000
202 04l 4,000 3,825 175
01 2LHoIH 4,000 3,825 175
SAME MHIAMNE HRFE 4,000
203 HR=H| 3,600 2,565 1,035
03 A= LR F&IH| 3,600 2,565 1,035
OFHdd gz 3,600
A o nttist =Xl 10,000 0 10,000
A< ojuttist | g2 10,000 0 10,000
201 et 3| 10,000 0 10,000
01 AtR2te|Hl 10,000 0 10,000
OX& st |Xl 82 & 10,000
olef orxzke| 15,250,068 16,509,305 1,259,237
= 103,128
= 1,980
Il 10,521,406
= 4,623,554
oler oz &tel 15,250,068 16,509,305 A1,259,237
= 103,128
= 1,980
Jl 10,521,406
=S 4,623,554
STSUALHZASHA 7= 3,579,890 3,466,000 113,890
Jl 3,579,890
308 AtXIEHMSOIE 3,579,890 3,466,000 113,890
Jl 3,579,890
01 XN BSELS 3,579,890 3,466,000 113,890
OdH el 2EXH 3,579,890
Jl 3,579,890
20 = S84 NESH 630,000 630,000 0
Jl 630,000
308 AXIHMSO0IA 630,000 630,000 0
Jl 630,000
01 HAHHBAEES 630,000 630,000 0
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L T_o™

H3: ojor ok 2
ol 2ot ojz 2t (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OA0tdE S84 NE=Y 630,000
Jl 630,000
20t ORtSEMZHH 28 A& 540,000 540,000 0
308 XXM SOIA 540,000 540,000
01 AXEH B2 LS 540,000 540,000
O40t ORtSEdEHE 2 X 540,000
A0t8HAL OF2t - RIS HE 2E X3 130,000 0 130,000
Il 100,000
< 30,000
308 AIXIHHISOIA 130,000 0 130,000
Jl 100,000
= 30,000
01 HAHHBSEXS 130,000 0 130,000
g0elogd =24 1 130,000
Jl 100,000
= 30,000
Ss22J12 ot e 2x=s 651,618 651,618 0
Jl 599,940
== 51,678
308 AIXIHHSO0IA 651,618 651,618 0
) 599,940
< 51,678
01 HAHHBSEEXS 651,618 651,618 0
Sa208712 BIRENM HE 2x= 651,618
Il 599,940
= 51,678
FH S84 212 N 2,750,800 2,750,800 0
Jl 2,116,000
=S 634,800
308 AXIHHS0IA 2,750,800 2,750,800 0
Jl 2,116,000
< 634,800
01 XN BSELS 2,750,800 2,750,800 0
OFSA S2S4 2812 N 2,750,800
Jl 2,116,000
= 634,800
FHA S284 24508 nA 134,000 140,500 26,500
7l 134,000
308 AIXIHHISO0IA 134,000 140,500 26,500
Jl 134,000
01 AXEN B2 LS 134,000 140,500 26,500
OF Il sS4 2tz0g ItA 134,000




S AT
Hm: ol OhF Bl

&l oo o Z:2tel EER=E)
CEHRI(BI) - HISAKY - B ol b e HlmS2
| 134,000
8,400 8,400 0
| 8,400
8,400 8,400 0
J| 8,400
8,400 8,400 0
8,400
| 8,400
3,470,000 3,481,000 211,000
| 2,429,000
& 1,041,000
3,470,000 3,481,000 211,000
| 2,429,000
& 1,041,000
3,470,000 3,481,000 211,000
3,470,000
| 2,429,000
= 1,041,000
190,000 511,200 A321,200
| 133,000
& 57,000
190,000 511,200 A321,200
| 133,000
& 57,000
190,000 511,200 A321,200
190,000
| 133,000
= 57,000
NERH S=2ASHAH 2st 1,218,000 3,218,000 A2,000,000
308 AXIHMSOI & 1,218,000 1,218,000 0
01 XN BAELS 1,218,000 1,218,000 0
ONEEH s3o30 2 82018 XA 1,218,000
Nt E32z fdS4% 23| 32,983 60,730 N2T, 747
| 23,088
& 9,8%
32,983 60,730 NPT, T47
| 23,0838
& 9,8%
13 S| 2S0lICH 32,983 60,730 NPT, 747
ol =22 32,983
| 23,088
= 9,8%
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ol 2o S|z 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HetHEER 29 X2 731,000 60,600 670,400
Il 365,500
== 365,500

308 AXIMSOIA 131,000 60,600 70,400
Il 65,500
< 65,500

183 S| 2SS ZB XA AIE 131,000 60,600 70,400
OMgtHEEE 28 XE 131,000
Jl 65,500
= 65,500

403 AXIEHHSAH=0lH 300,000 0 300,000
J| 150,000
=S 150,000

02 SISt 2 S A AIEEI 300,000 0 300,000
OMHHEEY 2SN (M & 285 7Y) 300,000
Il 150,000
[ 150,000

405 AtatsE = 300,000 0 300,000
Jl 150,000
= 150,000

01 TR ESF SHI 300,000 0 300,000
OIS NAXL(0ISSSAZME) 7 300,000
Jl 150,000
= 150,000

S=2ASX2dEH 22l 180,600 178,400 2,200
Il 90,300
[ 90,300

308 AXIHS0IA 180,600 178,400 2,200
Il 90,300
= 90,300

18 S| 2SS ZB HASAIE 180,600 178,400 2,200
Oss2d=XEdE 238l 180,600
Jl 90,300
= 90,300

SsA=XdH 249 X 250,000 0 250,000
J| 125,000
== 125,000

308 AXIHSOIA 250,000 0 250,000
Il 125,000
< 125,000

183 S| 2SS A AIE 250,000 0 250,000
OsY S=SA= XY 24| 250,000
Il 125,000
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X XH -
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s 2lef oz 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 125,000
A S Ss2A8AY 29 25,000 172,600 147,600
307 21201 & 7,000 7,000 0
05 2IR”IRIE = 7,000 7,000 0
OMHASXAXNE (0ISSSAZHNE) 2tel 7,000
308 XtXIEMSO0IH 18,000 165,600 147,600
18 SIS0t 4 A A A 18,000 165,600 A147,600
Oss2=XN2dH Sxtz 18,000
dAsfse 29 N3 31,840 32,000 A160
) 22,288
& 9,562
308 AtXIEMSOIE 31,840 32,000 A160
Jl 22,288
= 9,552
01 AXEH B EES 31,840 32,000 A160
odlsHse 24 X2 31,840
7l 22,288
= 9,552
dHAds S SSHX WSHIXH 220,000 100,000 120,000
Jl 110,000
[ 110,000
307 el2to| & 220,000 100,000 120,000
Jl 110,000
S 110,000
05 212+ =S 220,000 100,000 120,000
OtHaxds S SSXX LIHIXA 220,000
Il 110,000
= 110,000
SSEA (HR) OIS HH 2 84,000 120,000 236,000
308 XXM SOIA 84,000 120,000 236,000
01 XN BELES 84,000 120,000 /36,000
OSSN EE) OISHA He 29 84,000
AsSaEE2AI| 25 A 55,000 61,300 26,300
) 55,000
403 TR SHMSAH=01H 55,000 61,300 26,300
Jl 55,000
01 AXIHHA=2 2 55,000 61,300 26,300
OXss&ds2)| 25 A& 55,000
Il 55,000
d=¢g s d2ss B2 119,350 119,350
308 AXIHSO0IA 119,350 119,350
01 HAHHBSEEXS 119,350 119,350




2A:

I oo orF e
el e olzae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Oz=g viug oxn3s 23 119,350
oZlIB AT AXXY A 79,466 79,466 0
= 61,128
= 18,338
403 XIS S KH20I & 79,466 79,466 0
= 61,128
< 18,338
01 KIXISHX=RE 79,466 79,466 0
Oclzdlz ATYZ2 XX A 79,466
= 61,128
< 18,338
sE 2 42UE SRAIY 29,291 3,861 13,570
307 2I2H0IE 29,291 3,861 13,570
02 BIRIBAA 2R 29,291 3,861 13,570
OAS2LE OiYAL 8,330
OERE 2 22X 20,961
ATHGHE R S X 44,000 44,000 0
308 XHXISHHI SOl & 44,000 44,000
01 XIXISHZ A2 XS 44,000 44,000
OOt MEEX 22 S X 44,000
QARI2EN S AZXHAY 60,000 60,000 0
= 42,000
< 18,000
307 2I12H0| & 60,000 60,000 0
= 42,000
= 18,000
NEEEIEET] 60,000 60,000 0
OQIRI2RT} S AQNE BN A 60,000
= 42,000
< 18,000
SHNLHZI|D OIVAIR 8 | N (2AFRD 1,980 1,980 0
)
7 1,980
202 04| 240 240 0
2 240
NETEL 240 240 0
OSIoH QlfrFAA L S 240
7 240
206 2| 1,740 1,740 0
7 1,740
NIEEL 1,740 1,740 0
O%IeH 2= S 2/ 21| 1,740
2 1,740




2A:

EHX )}

L T_o™

H3: ojor ok 2
ol 2o S|z 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol AAE S BH==HEI(XEA) 2,850 2,850
206 M=l 2,850 2,850
01 MZH| 2,850 2,850
O=RIol A4S S ZM =1y 2,850
SZ32ASMbIA B AEt 59,689,691 44,888,194 14,801,497
= 139,200
[ 26,989,500
== 32,560,991
S32A=AHIA ZHH 235t 59,689,691 44,888,194 14,801,497
= 139,200
= 26,989,500
< 32,560,991
S32Ad2NEH £X - 29 600,000 600,000 0
[ 150,000
= 450,000
307 @120l & 600,000 600,000 0
[ 150,000
= 450,000
05 2IR”IRIE = 600,000 600,000 0
OSsEHAZ XY 29 600,000
= 150,000
= 450,000
BBEAHS HHA EA(Z4) 2,227,500 2,227,500 0
= 1,113,750
[ 1,113,750
308 AHXIEHMSOIE 2,227,500 2,227,500 0
[ 1,113,750
= 1,113,750
183 SIS B XA AIE 2,227,500 2,227,500 0
OSSE222 EEMA =AY 2,227,500
[ 1,113,750
= 1,113,750
S32A2A2 SHHA ASAS(H2) 22,500 22,500 0
= 11,250
== 11,250
403 AXIEHMSAH=0ld 22,500 22,500 0
= 11,250
< 11,250
02 SISOt =2 A P E A I 22,500 22,500 0
O332222 E8MHA A=A 22,500
[ 11,250
= 11,250
ANge|gd A4 - EHl Uz AIS 32,598,000 26,002,000 6,596,000
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SN EATBY
M B3 AHIA 3WH 25
oelr SS2AZAMHlA BUH 2ot (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,299,000
=S 16,299,000
403 AXIEHHSAH=0I 32,598,000 26,002,000 6,596,000
= 16,299,000
== 16,299,000
02 SIS0t =2 2 P E A I 32,598,000 26,002,000 6,596,000
OXlge|gd A& | et 32,598,000
= 16,299,000
& 16,299,000
AL 2d JIsELAME 13,002,000 4,708,000 8,294,000
[ 6,501,000
= 6,501,000
403 THXISHMSAH=01H 13,002,000 4,708,000 8,294,000
= 6,501,000
=S 6,501,000
02 SISt 2 S A AIEHI 13,002,000 4,708,000 8,294,000
OXgoA=d J|IsELsALY 13,002,000
= 6,501,000
[ 6,501,000
Age|=3 BIL SU= 4,069,000 4,069,000 0
[ 2,034,500
= 2,034,500
403 AXIEHHSAH=201d 4,069,000 4,069,000 0
[ 2,034,500
= 2,034,500
02 SIS0t =S A A 4,069,000 4,069,000 0
OSF2=@ RIZLETAIH (BTL) AIEUE 4,069,000
s 2,034,500
== 2,034,500
SHE S8 UA 600,000 600,000
308 AXIHS0IA 600,000 600,000
18 SIS0t HAS A 600,000 600,000
O8g€ sy u=i 600,000
SS2A¥sd X 16,400 16,400 0
= 8,200
= 8,200
301 LELE NS 16,400 16,400 0
= 8,200
=S 8,200
o4 gstsstis 16,400 16,400 0
oss2dgstd X 16,400
= 8,200
[ 8,200




S AR
M ZZoZAHIA BMAE US|
oelr SS2AZAMHlA BUH 2ot EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Xgolgd FFEHA 3,099,291 3,056,919 42,372
201 LB-2AH| 40,300 20,300 20,000
01 AtR2telt] 40,300 20,300 20,000
Oozd ZE RUH s A3s2Z8+Y 40,300
306 == 3,058,991 3,036,619 22,372
01 &3 3,058,991 3,036,619 22,372
OHIE & & M Fotelzidl Ed 483,000
Osdd 32 AN 472,000
O2SAt & &ea K& 60,000
OO0rHEE 2tSAF MM 240,000
Ozts2tyd SEMHIA &8 29 630,000
OZ2dH nsdy 108,000
O2sExelg o1y K& 600,000
Oozd g8 &5 XA 245,000
Oss4 23 g A2 0IXHAIA 220,991
Agelgd mtA o218 olH4H| K& 1,600,000 1,600,000 0
= 800,000
& 800,000
308 AXISHMSOIA 1,600,000 1,600,000 0
= 800,000
& 800,000
13 SI|2ASHICHEHE A E L EFALH] 1,600,000 1,600,000 0
OXolg & OtA 2Zolsd oIAH] X2 AL
s 1,600,000
= 800,000
T 800,000
oS3 HBSXZAY 262,000 457,050 A195,050
= 131,000
& 131,000
403 RXISHHS AH=201H 262,000 457,050 A195,050
= 131,000
& 131,000
02 SISO CHStR=2 X RIEAIS I 262,000 457,050 A195,050
OXgogd FESXIAAS 262,000
= 131,000
T 131,000
2SSk = 93 At 600,000 539,325 60,675
308 AHXIHMSOI & 600,000 539,325 60,675
01 IXSHHBAEERS 600,000 539,325 60,675
OBk gle 83 At 600,000
0ol Y| XA 6,000 15,000 A9,000
307 2I2+01™ 6,000 15,000 A9,000
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